Maytag MFR80PDAVS 06 - REAR PANEL AND VALVES

Maytag Commercial Maytag MFR80PDAVS Washer Parts Parts Diagram 06 - REAR PANEL AND VALVES
Click on the part number to view part

Item Original Part Number Replaced By Status Part Description
001 NLA Not Available BRIDGE, REAR
002 23001455 Valve, Two Way
003 23001533 Valve, Three-Way
004 23001754 Valve, One Way

" 24001122 Kit, Valve Repair
005 23001507 Waterhose
006 NLA Not Available HOSE 19/27
007 23001506 596669 Clamp, Manifold
008 23001262 616099 Clamp
009 23002196 Protector, Cable
010 23002197 Med. Strain Relief Nut
011 23002211 Swivel, Cable
012 23003138 Nut
013 23002210 Holder, Fuse
014 NLA Not Available LABEL, TERMINAL

015 23001462 Holder, Fuse


http://www.pwslaundry.com/c-299361-commercial-maytag-mfr80pdavs-washer-parts-for-repair-service
http://www.pwslaundry.com/i-7797931-maytag-23001455-washer-valve-two-way.html
http://www.pwslaundry.com/i-7797969-maytag-23001533-washer-valve-three-way.html
http://www.pwslaundry.com/i-7798088-maytag-23001754-washer-valve-one-way.html
http://www.pwslaundry.com/i-7800009-maytag-24001122-washer-kit-valve-repair.html
http://www.pwslaundry.com/i-7797954-maytag-23001507-washer-waterhose.html
http://www.pwslaundry.com/i-7802293-maytag-596669-washer-dryer-clamp-manifold.html
http://www.pwslaundry.com/i-7802318-maytag-616099-washer-dryer-clamp.html
http://www.pwslaundry.com/i-7798288-maytag-23002196-washer-protector-cable.html
http://www.pwslaundry.com/i-7798289-maytag-23002197-washer-med-strain-relief-nut.html
http://www.pwslaundry.com/i-7798297-maytag-23002211-washer-swivel-cable.html
http://www.pwslaundry.com/i-7798855-maytag-23003138-washer-nut.html
http://www.pwslaundry.com/i-7798296-maytag-23002210-washer-holder-fuse.html
http://www.pwslaundry.com/i-7797936-maytag-23001462-washer-holder-fuse.html

016 23001115 Terminal Block Insulation

" 23002399 23001014 Nut M4
017 23003385 22001555 Fuse
018 23002919 Fuse 0.5A 250V
019 23001482 Connection
020 23001483 Washer
021 23001484 Extension, Brass Pipe Thread
022 23001485 Tee, 3/4" Pipe Thread
023 23002795 Plug
024 23002243 Plug, Universal
025 23001476 Plug, Water Inlet
026 23001452 Square Plug
" 23001532 Cover, Button
027 23002022 Switch, Main
" 23002915 23003501 Switch, Main
" 23002923 Board, Terminal
028 23003389 Identification Plate
029 23002187 Bolt, Firing
030 23001465 Sticker, Electricity Warning
031 23003328 Fuse Label 1A/500V
" NLA Not Available STICKER (1A)
032 23001469 Sticker, Hot Water
033 NLA Not Available B /RSO
034 23001471 Sticker, Cold Soft Water
035 23002053 Label, Warning Vent Out
036 23001468 Sticker, Spin Direction
037 23003390 Index Plate "Flash"
038 23001486 Hose, Connection
039 23002921 Washer, Fill Hose
040 23002922 Filter Screen
041 23001529 Button
042 NLA Not Available PLUG (13)
043 23001509 Sticker, Pipe Thread
044 23002806 Screw
045 NLA Not Available SCREW (M4X20)
046 23001734 23002425 Locker Washer M6
047 23001643 23002424 Washer M6.4
048 23002438 Washer M4.3

049 23001515 23001312 Mut M6


http://www.pwslaundry.com/i-7797715-maytag-23001115-washer-terminal-block-insulation.html
http://www.pwslaundry.com/i-7797657-maytag-23001014-washer-nut-m4.html
http://www.pwslaundry.com/i-7797136-maytag-22001555-washer-dryer-fuse.html
http://www.pwslaundry.com/i-7798710-maytag-23002919-washer-fuse-0-5a-250v.html
http://www.pwslaundry.com/i-7797945-maytag-23001482-washer-connection.html
http://www.pwslaundry.com/i-7797946-maytag-23001483-washer-washer.html
http://www.pwslaundry.com/i-7797947-maytag-23001484-washer-extension-brass-pipe-thread.html
http://www.pwslaundry.com/i-7797948-maytag-23001485-washer-tee-3-4-pipe-thread.html
http://www.pwslaundry.com/i-7798633-maytag-23002795-washer-plug.html
http://www.pwslaundry.com/i-7798317-maytag-23002243-washer-plug-universal.html
http://www.pwslaundry.com/i-7797943-maytag-23001476-washer-plug-water-inlet.html
http://www.pwslaundry.com/i-7797928-maytag-23001452-washer-square-plug.html
http://www.pwslaundry.com/i-7797968-maytag-23001532-washer-cover-button.html
http://www.pwslaundry.com/i-7798214-maytag-23002022-washer-switch-main.html
http://www.pwslaundry.com/i-7799074-maytag-23003501-washer-switch-main.html
http://www.pwslaundry.com/i-7798714-maytag-23002923-washer-board-terminal.html
http://www.pwslaundry.com/i-7798981-maytag-23003389-washer-identification-plate.html
http://www.pwslaundry.com/i-7798283-maytag-23002187-washer-bolt-firing.html
http://www.pwslaundry.com/i-7797938-maytag-23001465-washer-sticker-electricity-warning.html
http://www.pwslaundry.com/i-7798960-maytag-23003328-washer-fuse-label-1a-500v.html
http://www.pwslaundry.com/i-7797940-maytag-23001469-washer-sticker-hot-water.html
http://www.pwslaundry.com/i-7797942-maytag-23001471-washer-sticker-cold-soft-water.html
http://www.pwslaundry.com/i-7798220-maytag-23002053-washer-label-warning-vent-out.html
http://www.pwslaundry.com/i-7797939-maytag-23001468-washer-sticker-spin-direction.html
http://www.pwslaundry.com/i-7798982-maytag-23003390-washer-index-plate-flash.html
http://www.pwslaundry.com/i-7797949-maytag-23001486-washer-hose-connection.html
http://www.pwslaundry.com/i-7798712-maytag-23002921-washer-washer-fill-hose.html
http://www.pwslaundry.com/i-7798713-maytag-23002922-washer-filter-screen.html
http://www.pwslaundry.com/i-7797965-maytag-23001529-washer-button.html
http://www.pwslaundry.com/i-7797956-maytag-23001509-washer-sticker-pipe-thread.html
http://www.pwslaundry.com/i-7798642-maytag-23002806-washer-screw.html
http://www.pwslaundry.com/i-7798443-maytag-23002425-washer-locker-washer-m6.html
http://www.pwslaundry.com/i-7798442-maytag-23002424-washer-washer-m6-4.html
http://www.pwslaundry.com/i-7798450-maytag-23002438-washer-washer-m4-3.html
http://www.pwslaundry.com/i-7797858-maytag-23001312-washer-mut-m6.html

	Maytag MFR80PDAVS 06 - REAR PANEL AND VALVES

